AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check appli	icable box)	
	FEDERAL	CANDIDATE

X	, STA	TE/L	OCAL	CA	.NDIDA	TE
/ \						

To Avail Themselves Of The Lowest Unit Charge During A Political Window, Federal Candidates Must Sign The Certification On Page 3

Station and Location: Date;													
KUPI KUPY KQPI 5/2/18													
I, Jessica Murray													
being/on behalf of: Tommy for Idaho													
a legally qua	a legally qualified candidate of the Republican												
	y for the office												
in the Prim													
election to be	election to be held on: 5/15/2018												
do hereby re	do hereby request station time as follows:												
Broadcast Day, Package Days Class Times per Week Weeks													
		VO	mes edule S										
		See Sch	edule &	low									

Attach proposed schedule with charges (if available):

FEDERAL CANDIDATE CERTIFICATION

In Order For Federal Candidates To Receive The Lowest Unit Charge During A Political Window, The Following Certification Is Required:

, Jessica Murray	
(name of federal candidate or authorized committee) here programming to be broadcast (in whole or in part) pursua	eby certify that the nt to this agreement:
□ does 🖻	does not
refer to an opposing candidate (check applicable box programming that does refer to an opposing candidate:). I further certify that for the
(check applicable box)	
the radio programming contains a personal audio statidentifies the candidate, the office being sought, and that the broadcast.	ement by the candidate that the candidate has approved
E the television programming contains a clearly identifial image of the candidate for a duration of at least four second isplayed printed statement identifying the candidate, that broadcast, and that the candidate and/or the candidate's at the broadcast.	nds, and a simultaneously
J. Munay	
signature of candidate or authorized	committee
Jessiza Munay printed name	
printed name	date

I represent that the payment for the above described broadcast time has been furnished by:

Tommy for Idaho

and you are authorized to announce the time as paid for by such person or entity. I represent that this person or entity is either a legally qualified candidate or an authorized committee/organization of the legally qualified candidate.

The name of the treasurer of the candidate's authorized committee is:

Orville Thompson

This station has disclosed to me its political advertising policies, including: applicable classes and rates; and discount, promotional and other sales practices (not applicable to federal candidates).

THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.

To Be Signed By Candidate or Authorized Committee

	J Munay	
Date	√ Signature ^θ	
/To Be Si	gned By Station Representative	
Accepted	☐ Accepted in Part	☐ Rejected
Justalke	- Keith Walker	Karl
Signature	Printed Name	Title

Sales Order

	ation:											Agen	су:		Strate	gic Me	dia Sei	rvices		
Со	ntract Name	e: Tommy Ahlquist for Gov 5.				.2.18	18				. /	Addre	ess: 1911 Nor		North F	lorth Ft Myer Drive				
	ntract#:													;	Suite 4	400				
Sta	art Date:	5/02/										City:								22209
																337-57				
					or Gover															
					State:															(None)
					*															
	timate #:																			0
Co	mpetitive Co	ode: Polit	icai									Sales	perso	on:	1414K	KATZ			Comm %:	14
											1	Make	good	Policy:	Withir	Contr	act Da	tes		
																				
No	DAT START	END	Alt	START	1ES	LEN	_	-				IBUT				RATE		TOTALS		PTY
1	5/02/18	5/04/18	wks	6:00 AM	10:00 AM	60	М	T	W 2	2		SA	SU	Per W	/k D/W	22.00	SPOTS 6	132.00	,	
2	5/02/18	5/04/18	-	10:00 AM	3:00 PM	60			2	2	2		1	6	D	20.00	6	120.00		
3	5/02/18	5/04/18		3:00 PM	7:00 PM	60			2	2	2			6	D	20.00	6	120.00		
4	5/07/18	5/08/18	<u> </u>	6:00 AM	10;00 AM	60	2	2						4	D	22.00	4	88,00		
5	5/07/18	5/08/18	•	10:00 AM	3:00 PM	60	2	2			<u> </u>			4	D	20.00	4	80.00		
5	5/07/18	5/08/18		3:00 PM	7:00 PM	60	2	2		L				4	D	20.00	4	80.00		
3illi	ng Project	ons: By M	lonth																	
1.200			V	1ay 18																
1		CA	6	\$20.00																
		ST	6	320.00																
$ \sqrt{2} $	Print Spot F	rices											TOT	TAL SP	OTS					30
													GR	OSS TO	TAL\$					620.00
													AD	JUSTED	SPOTS					30
															TOTAL					620.00
															, , , , , , ,	*				020.00
													A D.C	אסטער	DECLIN	ır				
													APF	'KUVE	DECLIN					
			• • • • • •					,					\circ		\bigcirc	Traffic				
										,			\bigcirc		\bigcirc	Sales N	<i>l</i> lanager			
													\bigcirc		\bigcirc	Credit				
															\bigcirc	Local S	ales Man	ager		